Representation from RWE Npower for Mod Proposals 094, 095, 096

Attachment A Mod 95 Scenarios:

Scenario A has an AQ of 1,000 KWh grows to 70,000 no reconciliation increase of 60,000

KWh

Scenario B has an AQ of 70,000 KWh grows to 120,000 no change of Supplier, reconciliation
of 50,000 KWh, supplier can bill customer.
Scenario C has an AQ of 70,000 KWh grows to 120,000 and change of Supplier(s) currently
no reconciliation; proposed mod results in reconciliation. Since the date of increased
consumption is not known on what basis are costs apportioned? How can Supplier bill the
customer as they have no information on which to base the consumption?
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